(B4 - JEF)

1,100 =

1,050
1,000
950
900
850
800
750
700
650
600
550
500
450
400
350
300
250
200
150
100
50
0

TEEREERSOZRFHRE BB RO

YR O W

ER26FER

——————— 15.1%

R

FR2TEER FRBEER

ER29FER

ERS0FEER

THTEER

16. 7%

M2EEXR FHIFER FHMA4FER

14.1%

SH5EEXR

TR
il

80~ R

8%5+4HA

8%7+A

8£104 A

9F0~R

9% 2+4H

8&E114 A

9F0~R

9% 2+4H

9%54R

TR AR
(AR ITERE
£ <)

80~ R

8%5#4R

8%#8+~H

8&114 A

9% 148

9% 2+4H

8&E114 A

9F0~R

9fF 24 R

9%54R

m20&E#

D108 ~20F LT

B FB~10FELUT

08 FHB~9FLUT

B7FB~8EUT

B6EB~TEUT

BE5EB~6FLUT

D4FB~GELUT

OD3FEB~4EUT

B2 FB~3EUT

o1EB~2FUT

B 1FEUTF




